



TABLE 2: COURSE DISTRIBUTION PER SEMESTER – BA (Hons) Fashion Design

A/A	Course type	Course title	Course code	Periods per week	Period duration	Number of weeks/ Semester	Total periods/ Semester	Number of ECTS
			YEAR 1					
		Α'	Semester-	/ear 1				
1.	Compulsory	Introduction to Visual Media Technologies	GR1002	2	1h	13	26	5* ECTS
2.	Compulsory	Aesthetics and Visual Composition	GR1001	2	1h	13	26	5* ECTS
3.	Compulsory	Fundamental Principles of Fashion	FS1005	12	1h	13	156	10* ECTS
4.	Compulsory	Academic Writing	EF1498	2	1h	13	26	5* ECTS
5.	Compulsory	Drawing and Illustration	FA1XXX	2	1h	13	26	5* ECTS
		B'	۔ Semester-۱	/ear 1		I		
1.	Compulsory	Introduction to Visual Media Technologies	GR1002	2	1h	13	26	5* ECTS
2.	Compulsory	Aesthetics and Visual Composition	GR1001	2	1h	13	26	5* ECTS
3.	Compulsory	Fundamental Principles of Fashion	FS1005	12	1h	13	156	10* ECTS
4.	Compulsory	Academic Writing	EF1498	2	1h	13	26	5* ECTS
5.	Compulsory	Drawing and Illustration	FA1XXX	2	1h	13	26	5* ECTS
		ו uivalent student workload per semester. ents will receive the 10 ECTS of the module further to su	ıccessful compl	etion of the 2 sem	esters (5*+5*).	1		l





		Д	' Semester-	Year 2				
1.	Compulsory	Critical Studies in Fashion and Textiles 1	FQ1001	1.5	1h	13	19.5	5* ECTS
2.	Compulsory	Fashion Communication & Presentation Methods	FS1102	1.5	1h	13	19.5	5* ECTS
3.	Compulsory	Fashion Design I	FS1001	9	1h	13	117	20 ECTS
		E	Semester-	Year 2	I			
1.	Compulsory	Critical Studies in Fashion and Textiles 1	FQ1001	1.5	1h	13	19.5	5* ECTS
2.	Compulsory	Fashion Communication & Presentation Methods	FS1102	1.5	1h	13	19.5	5* ECTS
3.	Compulsory	Fashion Design II	FS1002	9	1h	13	117	20 ECTS





A' Semester-Year 3										
Compulsory	Preparation for industry	FP2103	2.5	1h	13	32.5	5* ECTS			
Compulsory	Outerwear Design & Creation	FS2105	5.5	1h	13	71.5	10 ECTS			
Compulsory	Fashion Design III	FS2004	7.5	1h	13	97.5	15* ECTS			
	E	3' Semester-	Year 3							
Compulsory	Preparation for industry	FP2103	2.5	1h	13	32.5	5* ECTS			
Compulsory	Critical Studies in Fashion and Textiles 2	FQ2001	2.5	1h	13	32.5	10 ECTS			
Compulsory	Fashion Design III	FS2004	7.5	1h	13	97.5	15* ECTS			
- - -	Compulsory Compulsory Compulsory Compulsory	CompulsoryPreparation for industryCompulsoryOuterwear Design & CreationCompulsoryFashion Design IIIECompulsoryPreparation for industryCompulsoryCritical Studies in Fashion and Textiles 2	CompulsoryPreparation for industryFP2103CompulsoryOuterwear Design & CreationFS2105CompulsoryFashion Design IIIFS2004B' Semester-CompulsoryPreparation for industryFP2103CompulsoryCritical Studies in Fashion and Textiles 2FQ2001	CompulsoryPreparation for industryFP21032.5CompulsoryOuterwear Design & CreationFS21055.5CompulsoryFashion Design IIIFS20047.5B' Semester-Year 3CompulsoryPreparation for industryFP21032.5CompulsoryCritical Studies in Fashion and Textiles 2FQ20012.5	CompulsoryPreparation for industryFP21032.51hCompulsoryOuterwear Design & CreationFS21055.51hCompulsoryFashion Design IIIFS20047.51hB' Semester-Year 3CompulsoryPreparation for industryFP21032.51hCompulsoryCritical Studies in Fashion and Textiles 2FQ20012.51h	CompulsoryPreparation for industryFP21032.51h13CompulsoryOuterwear Design & CreationFS21055.51h13CompulsoryFashion Design IIIFS20047.51h13B' Semester-Year 3CompulsoryPreparation for industryFP21032.51h13CompulsoryCritical Studies in Fashion and Textiles 2FQ20012.51h13	CompulsoryPreparation for industryFP21032.51h1332.5CompulsoryOuterwear Design & CreationFS21055.51h1371.5CompulsoryFashion Design IIIFS20047.51h1397.5B' Semester-Year 3CompulsoryPreparation for industryFP21032.51h1332.5CompulsoryCritical Studies in Fashion and Textiles 2FQ20012.51h1332.5			





	YEAR 4									
A' Semester-Year 4										
1.	Compulsory	Fashion Design IV	FS3002	4	1h	13	52	10 ECTS		
2.	Compulsory	Experimental Silhouette Investigation	FS3009	4	1h	13	52	10 ECTS		
3.	Compulsory	Critical Studies in Fashion and Textiles 3	FQ3001	2.5	1h	13	32.5	10 ECTS		
4.	Compulsory	Fashion Collection	FS3008	6.5	1h	13	84.5	5* ECTS		
		-	1							
		В	Semester-	Year 4						
1.	Compulsory	Fashion Collection	FS3008	6.5	1h	13	84.5	25* ECTS		
*The E	CTS indicates the eq	uivalent student workload per semester.	1	I	I	I	I	I		
NOTE	For example, the stu	udents will receive the 30 ECTS of the module further to	o successful com	pletion of the	2 semesters (5*	+25*).				